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@) 648 +2=324 b) 999:3=333  c) 848=8=106 d) 896 :4=224
648 + 2 equals 324, making It the closest answer to 300. It is only 24 away from 300 whereas the other calculations
are considerably further away.
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2) a) 648-2-136r4 b) 999=3=162rs ) 848-8=92r3 d) 896-4=1Ii3

3) |a) Apples: 70 trays of apples (1 left over) b) s (1 apple and 4 plums)

Pears: 124 trays of pears
Plums: 83 trays of plums (4 left over)
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Similarities:

Both children have used a part-whole model.

Both children have used flexible partitioning.

Both part-whole models have three parts.

Both children have calculated the same correct answer of 14rs.

Both children have included the calculation 700 +7 = 100 in their method.

Differences:

The children have flexibly partitioned 992 in different ways.
Mateus has partitioned 292 into 280 and 12.

Olivia has partitioned 292 into 210 and 82.
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648 + 2 equals 324, making It the closest answer to 300. It is only 24 away from 300 whereas the other calculations
are considerably further away.





